X
=
(=)

-3

< & ¢@>(rad)
©
N
Ul

— E -

- . -

- . .

C =T X

r - -

[ A1 ALY
N X
I

r 1

|
w

-2 -1 0 1 2 3
TP n (PCA to beamline)

< dcot(B) >

X

(Y

(=)
&

I
[N}

0.15F {3+ f R 10| R
E i :
0.4 1 w1t
0.05F 1+ : e B R
0:— ----- u—i \: ------
0.05f f-++++4-+- 1 M-
-0.1- o111 .
0.15F == 4--+|- e T IA| R R
_0.2; " il I A ,
2 :
: il
I
% 1 2 3

llll!{

8 sratvector—tooeeTt
E egé %ﬁé%‘ﬁ 1RO TLIERS 1000evt

[y
A OO ®© O
OO O

< 00y > (Um)

20

Rati
=
Ul
||||||||||I LI

e e

il
ﬁln TW

0 1 2 3
TP n (PCA to beamline)

< opJp, > (%)

o
oo

(oS Y LR LAY LA A LN LN RS AR LN LT AL AN LN R

12 3
TP n (PCA to beamline)

—~

< 8d,>(um

10
80
60
40,

(o8 AR LR AL LU L

19 N w

1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


